CHEMISTRY

BOOKS - CENGAGE CHEMISTRY (ENGLISH)

S-BLOCK GROUP 2 - ALKALINE EARTH
METALS

lllustration

1. Given, the enthalpy of formation of MgCl,) is

—125kJmol ' and the entahpy of formation of

MgCly ) is— 642kJmol . Predict whether MgCl



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vt2pyNxbSuiq

will undergo disproportionnation or not? If yes,

calculate the enthalpy of disproportion.

° Watch Video Solution

2. The second ionisation enthalpy of the elements of
group 1 are higher than those of elements of group 2

. Explain.

° Watch Video Solution

3. What is the order of the second ionisation

enthalpy of K, Ca and Ba?

[ a A o_L vl ~_01._.0°_ ]


https://dl.doubtnut.com/l/_vt2pyNxbSuiq
https://dl.doubtnut.com/l/_jBgPv57GMkPg
https://dl.doubtnut.com/l/_Cst1TUaLfOTu
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4. (a) Why alkaline earth metals are harder, have higer
melting ponts and higher densities than the alkali
metals?

(b). Why the atoms of alkaline earth metals are
smaller than the corresponding alkali metals?

(c ). Why alkaline earth metals have high electrical
and thermal conductivities?

(d). What is black ash?

(e). Why the variation in physical properties of
alkaline earth elements is not as regular as in the

case of alkali metals?

° Watch Video Solution



https://dl.doubtnut.com/l/_Cst1TUaLfOTu
https://dl.doubtnut.com/l/_F40EvHbf7k00

5.(a). Mention the most abundant and least abudant
alkaline earth

metal in the earth's crust.

b. Arrange alkaline earth metals in order of
decreasing hydration enthalpy.

c. Ca, Sr and Ba generally form ionic compounds.
why?

d. Mention colours of C'a, Ba and Sr in flame test.

o Watch Video Solution



https://dl.doubtnut.com/l/_F40EvHbf7k00
https://dl.doubtnut.com/l/_mV7fsUVWlFBH

6. (a). Which alkaline earth metals do not give
characteristic colour to the Bunsen flame?

(b). Why alkaline earth metals do not form tripositive
ions?

(c ). Why alkaline earth metals are diamagnetic, but
alkali metals are paramagnetic?

(d). Why the first inonisation enthaply pf alkaline
earth matals is higher than those of corresponding
alkali metals?

(e). Why alkaline earth metals are less electropositive

than corresponding alkali metals?

° Watch Video Solution



https://dl.doubtnut.com/l/_UNnMFbsib2is
https://dl.doubtnut.com/l/_aZumvr5PQZft

7. When Mg metal is burnt in air, a white powder is

left behind as ash. What is the white powder?

° Watch Video Solution

8. (a) [BeFy)* ™ exits, but [BeClg]*~ does not. Give
reson.
(b). Hydrated beryllium ion exists as [Be(H20)4]2+,

whereas hydrated magnesium ion exists as

[ Mg(H>0)] ** _Give reason.

° Watch Video Solution



https://dl.doubtnut.com/l/_aZumvr5PQZft
https://dl.doubtnut.com/l/_eUIVxxkxdaAH

9. Why does the solubility of alkaline earth metal

hydroxides in water increase down the group?

° Watch Video Solution

10. BesC + H,0O — BeO + X
CaCy + HyO — Ca(OH), +Y

Identify (X), (Y) and (Z2).

° Watch Video Solution



https://dl.doubtnut.com/l/_ErTyUSdJe7nb
https://dl.doubtnut.com/l/_VkcmEpyUc0bS

11. Give reasons for the following:

(a). Alkanline earth metals cannot be obtained by
chemical reduction.

(b). Alkaline earth metals have stronger tendancy to
form complexes than alkai metals.

(c ). Magnesium nitride on reacting with water gives
ammonia, but magnesium chloride does not give

HCT on reacting with water.

o Watch Video Solution

12. 1.0g of magnesium ribbon was placed in a crucible

and heated with the lid on, until the magnesium


https://dl.doubtnut.com/l/_gfSWUfyCl8HH
https://dl.doubtnut.com/l/_0IAKhLM3NAKz

began to burn brilliantly. At the end of experiment,
there was 1.45¢g of white powder.

Show that this result does not agree with the
equation:

2Mg sy + Oz(9) — 2MgO (4)

Give an explanation for your answer.

o Watch Video Solution

13. (a). Give an example of laboratory desiccant.
(b). What are the products formed when

MgCly.6H50 is heated?

o Watch Video Solution



https://dl.doubtnut.com/l/_0IAKhLM3NAKz
https://dl.doubtnut.com/l/_m8Ejxm3aj03n

14. Plaster of Paris on losing water and gaining water

gives A and B. Identify A and B.

° Watch Video Solution

15. BaO, is a peroxide, but PbO, is not a peroxide.

Why?

° Watch Video Solution

16. Which is the weakest base among

NaOH, Ca(OH),, KOH and Be(OH),.

[ o Watch Video Solution


https://dl.doubtnut.com/l/_7If4zNZnhQLI
https://dl.doubtnut.com/l/_YBEcLK7fPUCm
https://dl.doubtnut.com/l/_zY0xwIMVeVbJ

17. Why sodium chloride is added during electrolysis

of fused anhydrous magnesium chlroride?

° Watch Video Solution

18. Give the names and formula of the compounds
indicated in the following statements.
(@). A compounds of Ca used in setting fractured

bones.

° Watch Video Solution



https://dl.doubtnut.com/l/_zY0xwIMVeVbJ
https://dl.doubtnut.com/l/_UIKuH0tYAL1U
https://dl.doubtnut.com/l/_HSOrSBu7HdtG
https://dl.doubtnut.com/l/_ksvhK7LALdKM

19. A : Be is sp hybridized in BeCl, at room
temperature

R : Be is sp® hybridized above 1200 K in BeCl,

° Watch Video Solution

Solved Example

1. Chemical 'A' is used for water softening to remove

temporary hardness. ‘A reacts with sodium carbonate
to generate caustic soda. When carbon dioxide is
bubbled through ‘A" it turns cloudy. What is the

chemical formula of 'A

[ o Watch Video Solution


https://dl.doubtnut.com/l/_ksvhK7LALdKM
https://dl.doubtnut.com/l/_1QxVHSCxXcJ3

2. Magnesium on heating in air gives (A) and (B).
On reaction with water (B) gives a colourless gas
(C). (C) when passed through CuSO, solution,
gives a blue coloured solution (D). Identify (C)

and (D).

° Watch Video Solution

3. Thermal decompositon of a compound (X) yields,
a basic oxide (Y) and an acidic oxide (Z)
simultanously. The acidic oxide (Z) can be absorbed

by alkaline KOH. Indentify (X), (Y) and (Z).


https://dl.doubtnut.com/l/_1QxVHSCxXcJ3
https://dl.doubtnut.com/l/_0TkF9RqlCyHQ
https://dl.doubtnut.com/l/_gNUUHpuC0Pkl

o Watch Video Solution

Strong
200°C :
CaSO,2H,0 €, g eating, ¢,
gypsum
\L120°c
a. M)

Identify (A), (B) and (C).

o Watch Video Solution

5. When a colourless gas (A), which is poisonous
and burns with blue flame, is passed through

aqueous NaOH solution, gives a compound (B).


https://dl.doubtnut.com/l/_gNUUHpuC0Pkl
https://dl.doubtnut.com/l/_R4jSHUDkvlze
https://dl.doubtnut.com/l/_VUztQF9WhJ2J

Compound (B) on heating gives (C). (C) gives a
white precipitate (D) with CaCl,. Both (C) and (D)

decolourises KMnQOy. Identify (A) to (D).

o Watch Video Solution

6. An element (A) of group 2 gives brick red colour in
the Bunsen

flame. (A) burns in nitrogen atmosphere to give (B),
which gets hydrolysed to produce gas (C) and an
alkaline solution (D). The solution (D) on exposure
to air produces a thin solid layer (E) on

the surface. Identify (D).

o Watch Video Solution



https://dl.doubtnut.com/l/_VUztQF9WhJ2J
https://dl.doubtnut.com/l/_r5c6OuurCERt

Exercises Linked Comprehension

1. Solubility of an ionic compound in water is mainly
dependent on:

a.Lattice enthalpy, b. Hydration enthalpy

Both these factors oppose each other and the
resultant of these determines the solubility of an
ionic compound in water. If lattice enthalpy has
greater value, the compound is less soluble.

In case hydration enthalpy has greater value, the
compound is

highly soluble in water.


https://dl.doubtnut.com/l/_r5c6OuurCERt
https://dl.doubtnut.com/l/_YFRZbNIbGaFi

Compound of alkaline earth metals are less soluble

than

alkali metals, due to:

A. Their high hydration enthalpy

B. Their high lattice enthalpy

C. Their increases covalent character

D. Their high ionisation enthalpy.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YFRZbNIbGaFi

2. Solubility of an ionic compound in water is mainly
dependent on:

a.Lattice enthalpy, b. Hydration enthalphy

Both these factors oppose each other and the
resultant of these determines the solubility of an
ionic compound in water. If lattce enthalpy has
greater value, the compound is less soluble.

In case hydration enthalpy has greater value, the
compound is

highly soluble in water.

Which of the following is more soluble in water?

A. MgSO4

B. CCLSO4


https://dl.doubtnut.com/l/_ddhzqxbcK5Jt

C. S’I“SO4

D. BaSO,

Answer: A

° Watch Video Solution

3. Solubility of an ionic compound in water is mainly
dependent on:

a.Lattice enthalpy, b. Hydration enthalphy

Both these factors oppose each other and the
resultant of these determines the solubility of an
ionic compound in water. If lattce enthalpy has

greater value, the compound is less soluble.


https://dl.doubtnut.com/l/_ddhzqxbcK5Jt
https://dl.doubtnut.com/l/_uGnzsoN1ZlJz

In case hydration enthalpy has greater value, the
compound is
highly soluble in water.
BeF,5 is soluble in water while fluorides of other
alkaline earth
metals are insoluble because of:

A. Covalent nature of BeF)

B. lonic nature of BeF)

C. Greater hydration enthalpy of Be* " ion

D. Greater lattice enthalpy of Be® " ion

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_uGnzsoN1ZlJz

4. Solubility of an ionic compound in water is mainly
dependent on:

a.Lattice enthalpy, b. Hydration enthalphy

Both these factors oppose each other and the
resultant of these determines the solubility of an
ionic compound in water. If lattce enthalpy has
greater value, the compound is less soluble.

In case hydration enthalpy has greater value, the
compound is

highly soluble in water.

Which of the following is less soluble in water?

A.Mg(OH),


https://dl.doubtnut.com/l/_uGnzsoN1ZlJz
https://dl.doubtnut.com/l/_xQhM310UdV9x

B.Ca(OH),
C.Sr(OH),

D. Ba(OH),

Answer: A

o Watch Video Solution

5. Compound is soluble in water if

A.Hydration enthalpy is greater than lattice

enthalpy

B. Hydration enthalpy is less than lattice enthalpy


https://dl.doubtnut.com/l/_xQhM310UdV9x
https://dl.doubtnut.com/l/_fdgQ4cdvCFfu

C. hydration enthalpy and lattice enthalpy are

same

D. None of the above

Answer: A

o Watch Video Solution

6. Alkali &alkaline earth metals have low ionisation
enthalpies and hence exhibit characteristic flame
colouration. They have high negative electrode
potentials & hence are strong reducing agents. It
dissolve in liquid ammonia to give a solution which

conducts electricity and act as strong reducing agent.


https://dl.doubtnut.com/l/_fdgQ4cdvCFfu
https://dl.doubtnut.com/l/_iQRqns7NVhOd

being stronger reducing agent than hydrogen, they
are usually prepared by the electrolysis of their fused
chlorides. Their oxides are basic and the basic
strength increases down the group. The solubility of
carbonates and sulphates of alkali and alkaline earth
metals show opposite trends. only the carbonates of
Li and alkaline earth metals decompose on heating.
The bicarbonates of both alkali & alkaline earth
metals on heating give carbonates.

Which of the following process is used in the

extractive metallurgy of sodium?

A. Electrolysis of aqueous solution

B. Thermite rediction


https://dl.doubtnut.com/l/_iQRqns7NVhOd

C. Electrolysis of fused salt

D. Self-reduction

Answer: C

o Watch Video Solution

7. The correct decreasing order of basic character of

the oxides is

A K0 > MgO > SrO > Csy0

B.Cs,0 > K50 > SrO > MgO

C. MgO > SrO > K,0 > (Cs50


https://dl.doubtnut.com/l/_iQRqns7NVhOd
https://dl.doubtnut.com/l/_QtdGfXVHdtfm

D. 0820 > KzO > MgO > Sr0O

Answer: B

o Watch Video Solution

8. Property of the alkaline earth metals that increases

down the group with their atomic number is

A. lonisation enthalpy

B. Solubility of their hydroxides

C. Solubility of their sulphates

D. Electronegativity


https://dl.doubtnut.com/l/_QtdGfXVHdtfm
https://dl.doubtnut.com/l/_jO8Y4PZPeKxU

Answer: B

° Watch Video Solution

9. ldentify the correct order of thermal stabilities.

A. K:CO3 < MgCO3 < CaCO3 < BeCOj3
B. BeCO3 < CaC0O5 < MgCO:; < K9COs
C. BeCO3 < MgCO3 < CaCO5 < K3COs

D.CaCO3 < BeCO3 < NgCO?, < K5COs

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jO8Y4PZPeKxU
https://dl.doubtnut.com/l/_iwdVCPQdm7cG

10. The compound insoluble in acetic acid is

A. Calcium oxide

B. Calcium carbonate

C. Calcium oxalate

D. Calcium hydroxide

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_iwdVCPQdm7cG
https://dl.doubtnut.com/l/_MnWj8ItjiqJw

1. According to Fajans'rules, the percentage of
covalent character in an ionic compound increase if
the cation is highly charged or small in size and the
anion is large or cation has pseudoinert gas
configuration. As a result of the increased covalent
character, solubility in less polar solvent increases
and the melting point decreases.

Which of the following has the lowest melting point?

A.KCl

B. LiCl

C.CsCl

D. RbCl


https://dl.doubtnut.com/l/_aDxhvEOmzR6u

Answer: B

° Watch Video Solution

12. The correct order of decreasing covalent character

is

A. LiCl > NaCl > BeCl,

B. BeCly > LiCl > NaCl

C. NaCl > LiCl > Be(Cl,

D. BeCly > NaCl > LiCl

Answer: B

.y l


https://dl.doubtnut.com/l/_aDxhvEOmzR6u
https://dl.doubtnut.com/l/_4IegFaNz1vGz

| W vvatch vVideo sSolution J

13. According to Fajans'rules, the percentage of
covalent character in an ionic compound increase if
the cation is highly charged or small in size and the
anion is large or cation has pseudoinert gas
configuration. As a result of the increased covalent
character, solubility in less polar solvent increases
and the melting point decreases. The correct order of

increasing ionic character is

A. NaCl < KCl < RbCl < CsCl

B. NaCl < KCl < CsCl < RbCI

C. KCIl < NaCl < CsCl < RbCI


https://dl.doubtnut.com/l/_4IegFaNz1vGz
https://dl.doubtnut.com/l/_9jmeydmzorsb

D.CsCl < RbCl < KCl < NaCl

Answer: A

o Watch Video Solution

14. According to Fajans'rules, the percentage of
covalent character in an ionic compound increase if
the cation is highly charged or small in size and the
anion is large or cation has pseudoinert gas
configuration. As a result of the increased covalent
character, solubility in less polar solvent increases
and the melting point decreases.

The correct order of increasing ionic character is


https://dl.doubtnut.com/l/_9jmeydmzorsb
https://dl.doubtnut.com/l/_BTTFOcw71PrA

A. BeCl, < MgCl2 < CaCly < BaCl,

B. B€Cl2 < MgC'l2 < BaCl2 < C&Clz

C. BeCly < BaCl,y < MgClz < CaCl,

D. BaCly, < CaCl, < MgClz < BeCl,

Answer: A

° Watch Video Solution

15. According to Fajans'rules, the percentage of
covalent character in an ionic compound increase if
the cation is highly charged or small in size and the

anion is large or cation has pseudoinert gas


https://dl.doubtnut.com/l/_BTTFOcw71PrA
https://dl.doubtnut.com/l/_g2v6suAWcvWr

configuration. As a result of the increased covalent

character, solubility in less polar solvent increases

and the melting point decreases.

Which of the following has highest melting point?

A. LiCl

B. NaCl

C. KCl

D. RbCl

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_g2v6suAWcvWr

16. A compound (A) on heating in Busen flame

imparts brick red colouration. (A) on heating gives
CO, gas and a residue (B). The residue (B) when

treated with water gives (c). On passing an excess of
CO, through (C) in water, a clear solution (D) is
obtained. On boiling (D), compound (A) is
reformed.
Compound (A4) is

A. CCLCOg

B. MgCOQ,

C. S?"CO3

D. BCLCO3


https://dl.doubtnut.com/l/_HQEyR1wzPvA8

Answer: A

o Watch Video Solution

17. A compound (A) on heating in Busen flame
imparts brick red colouration. (A) on heating gives
CO, gas and a residue (B). The residue (B) when
treated with water gives (c). On passing an excess of
CO, through (C) in water, a clear solution (D) is
obtained. On boiling (D), compound (A) is
reformed.

Residue (B) is

A.CaO


https://dl.doubtnut.com/l/_HQEyR1wzPvA8
https://dl.doubtnut.com/l/_A9hViMcyKP9D

B. C&Oz

C.SrO

D. BaO

Answer: A

o Watch Video Solution

18. A compound (A) on heating in Busen flame
imparts brick red colouration. (A) on heating gives
CO, gas and a residue (B). The residue (B) when
treated with water gives (c). On passing an excess of
CO, through (C) in water, a clear solution (D) is

obtained. On boiling (D), compound (A) is


https://dl.doubtnut.com/l/_A9hViMcyKP9D
https://dl.doubtnut.com/l/_0kl40hCVGg1g

reformed.

Compound (C) is
A.Ca(OH),
B.Sr(OH),
C. Ba(OH),

D. [Sr(H,0)4]""

Answer: A

o Watch Video Solution

19. A compound (A) on heating in Busen flame

imparts brick red colouration. (A) on heating gives


https://dl.doubtnut.com/l/_0kl40hCVGg1g
https://dl.doubtnut.com/l/_DNqp4NMNcOgq

CO, gas and a residue (B). The residue (B) when

treated with water gives (c). On passing an excess of
CO, through (C) in water, a clear solution (D) is
obtained. On boiling (D), compound (A) is
reformed.
Compound (D) is

A.Ca(HCOs),

B. S’I"(HCOg)2

C. B(L(HCOg)2

D.Ca(OH),

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_DNqp4NMNcOgq

20. Cement is one of the most important building
material of the present time. It is a dirty greyish
heavy powder containing calcium aluminates and
silicates. The important raw materials neede for the
manufacture of cement are limestone, clay and
gypsum. the main step in the manufacture of cement
is the heating of raw meal or slurru in the rotary kiln
at a very high temperature 1400 — 1600° C. Finally
2% or 3% gypsum is added.

When cement is mixed with water and left as such for
sometime, it becomes a hard mass. This is known as
setting of cement. It is believed that varous

aluminates and silicates present in the cement form


https://dl.doubtnut.com/l/_DNqp4NMNcOgq
https://dl.doubtnut.com/l/_06KYvMWJJGkA

hydrates with water which seperate in the form of
gel. the gel formed start losing water partly by
evaporation and partly by forming hydrates with
unhydrated constituents. this results in the
formation of a hard mass.
Portland cement does not contain

A. C’aSzO4

B. C'aSi03

C. C(Lg. Aleﬁ

D. C(lg(PO4)2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_06KYvMWJJGkA

21. Cement is one of the most important building
material of the present time. It is a dirty greyish
heavy powder containing calcium aluminates and
silicates. The important raw materials neede for the
manufacture of cement are limestone, clay and
gypsum. the main step in the manufacture of cement
is the heating of raw meal or slurru in the rotary kiln
at a very high temperature 1400 — 1600° C. Finally
2% or 3% gypsum is added.

When cement is mixed with water and left as such for
sometime, it becomes a hard mass. This is known as
setting of cement. It is believed that varous

aluminates and silicates present in the cement form


https://dl.doubtnut.com/l/_06KYvMWJJGkA
https://dl.doubtnut.com/l/_DmvBlVC70hxz

hydrates with water which seperate in the form of
gel. the gel formed start losing water partly by
evaporation and partly by forming hydrates with
unhydrated constituents. this results in the
formation of a hard mass.
Setting of cement is

A. Exothermic reaction

B. Endothermic reaciton

C. Hydration process

D. None of these

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_DmvBlVC70hxz

22.The average composition of portland cement is

A.20 — 25%
B.30 — 45 %
C.60 — 65 %
D.40 — 50 %
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_DmvBlVC70hxz
https://dl.doubtnut.com/l/_VqCR51kf3M9V

23. Cement is one of the most important building
material of the present time. It is a dirty greyish
heavy powder containing calcium aluminates and
silicates. The important raw materials neede for the
manufacture of cement are limestone, clay and
gypsum. the main step in the manufacture of cement
is the heating of raw meal or slurru in the rotary kiln
at a very high temperature 1400 — 1600° C. Finally
2% or 3% gypsum is added.

When cement is mixed with water and left as such for
sometime, it becomes a hard mass. This is known as
setting of cement. It is believed that varous
aluminates and silicates present in the cement form

hydrates with water which seperate in the form of


https://dl.doubtnut.com/l/_R1g6U1vVyTii

gel. the gel formed start losing water partly by
evaporation and partly by forming hydrates with
unhydrated constituents. this results in the
formation of a hard mass.
Concrete is a mixture of

A. Cement, sand, gravel and water

B. Cement, sand limestone and water

C. Cement, slaked lime and water

D. Cement, sand and water

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_R1g6U1vVyTii
https://dl.doubtnut.com/l/_YPT5e5ufxRU4

24. Cement is one of the most important building
material of the present time. It is a dirty greyish
heavy powder containing calcium aluminates and
silicates. The important raw materials neede for the
manufacture of cement are limestone, clay and
gypsum. the main step in the manufacture of cement
is the heating of raw meal or slurru in the rotary kiln
at a very high temperature 1400 — 1600° C. Finally
2% or 3% gypsum is added.

When cement is mixed with water and left as such for
sometime, it becomes a hard mass. This is known as
setting of cement. It is believed that varous
aluminates and silicates present in the cement form

hydrates with water which seperate in the form of


https://dl.doubtnut.com/l/_YPT5e5ufxRU4

gel. the gel formed start losing water partly by
evaporation and partly by forming hydrates with
unhydrated constituents. this results in the
formation of a hard mass.
Gypsum is added to portland cement

A. To fasten the process of setting

B. To slow down the process of setting

C. To improve the colour of the cement

D. All of the above are incorrect

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YPT5e5ufxRU4
https://dl.doubtnut.com/l/_fKTEI2KiO5fL

25. Alkanline earth metal nitrate (A) on heating
decompose, leaving a solid residue (B) which goes
into solution with dilute HCI. The solution of (B)
gives a white precipitate (C) is dissolved in dilute
HCl and the solution is treated with potassium
chromae to get yellow precipitate (D). The solution
(B) with dilute H,SO, also gives a white precipitate
(E) insoluble in diute HC! and nitric acid. the
precipitate (E) is a part of a white pigment
lithopone.

The compound (E) is

A. BG,SO4

B. MgSO4


https://dl.doubtnut.com/l/_fKTEI2KiO5fL

C. C’aSO4

D. NG2SO4

Answer: A

° Watch Video Solution

26. Alkanline earth metal nitrate (A) on heating
decompose, leaving a solid residue (B) which goes
into solution with dilute HCI. The solution of (B)
gives a white precipitate (C) is dissolved in dilute
HCI and the solution is treated with potassium
chromae to get yellow precipitate (D). The solution

(B) with dilute H,S0, also gives a white precipitate


https://dl.doubtnut.com/l/_fKTEI2KiO5fL
https://dl.doubtnut.com/l/_xsdlfsU0ltab

(E) insoluble in diute HC! and nitric acid. the
precipitate (E) is a part of a white pigment
lithopone.
The yellow precipitate (D) is

A.PbC’I"04

B.BCLCTO4

C. CCLCT‘O4

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xsdlfsU0ltab

27. Alkanline earth metal nitrate (A) on heating
decompose, leaving a solid residue (B) which goes
into solution with dilute HCI. The solution of (B)
gives a white precipitate (C) is dissolved in dilute
HCIl and the solution is treated with potassium
chromae to get yellow precipitate (D). The solution
(B) with dilute Hy SO, also gives a white precipitate
(E) insoluble in diute HC! and nitric acid. the
precipitate (E) is a part of a white pigment
lithopone.

The metal nitrate (A) is

A. Ca(N03)2

B. Pb(NO;),


https://dl.doubtnut.com/l/_yXeuyQhQpmHT

C. Ba(N03)2

D. KNOj;

Answer: C

° Watch Video Solution

28. Alkanline earth metal nitrate (A) on heating
decompose, leaving a solid residue (B) which goes
into solution with dilute HCI. The solution of (B)
gives a white precipitate (C) is dissolved in dilute
HCIl and the solution is treated with potassium
chromae to get yellow precipitate (D). The solution

(B) with dilute HySO, also gives a white precipitate


https://dl.doubtnut.com/l/_yXeuyQhQpmHT
https://dl.doubtnut.com/l/_sIssC7vZb1LF

(E) insoluble in diute HC! and nitric acid. the
precipitate (E) is a part of a white pigment
lithopone.
The solid residue (B) is

A.CaO

B. PbO

C. ZnO

D. BaO

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_sIssC7vZb1LF

29. Alkanline earth metal nitrate (A) on heating
decompose, leaving a solid residue (B) which goes
into solution with dilute HCI. The solution of (B)
gives a white precipitate (C) is dissolved in dilute
HCl and the solution is treated with potassium
chromae to get yellow precipitate (D). The solution
(B) with dilute Hy SO, also gives a white precipitate
(E) insoluble in diute HC! and nitric acid. the
precipitate (E) is a part of a white pigment
lithopone.

The nitrate (A) can be confirmed by flame test. The

colour imparted by the salt to the Bunsen flame is

A. Yellow


https://dl.doubtnut.com/l/_LDn5m7tVNqJw

B. Green

C.Blue

D. Red

Answer: B

o Watch Video Solution

30. Both alkali metals and alkaline earth metals are
s — block elements. They resemble each other in
many respects but still there are certain
dissimilarities in their properties due to different
number of electrons in the valence shell, different

atomic radii, ionisation enthalpy, electronegativity,


https://dl.doubtnut.com/l/_LDn5m7tVNqJw
https://dl.doubtnut.com/l/_5N8oHbbL3cVt

etc.

Like lithium, Be also differs from rest of the alkaline
earth metals on account of its small atomic size and
high electronetativity. Be?'ion is very small and
exerts a high polarising effect on any anion
associated with it.

The correct sequence of increasing covalent

character is
A. BeCI, < NaCl < LiCl
B. NaCl < LiCl < BeCl,

C. BeCl, < LiCl < NaCl

D. LiCl < NaCl < BeC(Cl,


https://dl.doubtnut.com/l/_5N8oHbbL3cVt

Answer: B

o Watch Video Solution

31. Which is least thermally stable?

A. Li,COs

B. MgCOg

C. BGCOg

D. BGCO:;

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5N8oHbbL3cVt
https://dl.doubtnut.com/l/_OkqEWN7ZNr1D

32. Which of the following statements are true for

group 2 elements?

A. Lattice enthalpy of oxides, carbonates, fluorides

decreases form Be to Ba.

B. All form nitrides in air.

C. The solubility of the hydroxides increases from

Be toe Ba.

D. All are correct.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OkqEWN7ZNr1D
https://dl.doubtnut.com/l/_1RkqI14db0sE

33. Both alkali metals and alkaline earth metals are
s — block elements. They resemble each other in
many respects but still there are certain
dissimilarities in their properties due to different
number of electrons in the valence shell, different
atomic radii, ionisation enthalpy, electronegativity,
etc.

Like lithium, Be also differs from rest of the alkaline
earth metals on account of its small atomic size and
high electronetativity. Be®"ion is very small and
exerts a high polarising effect on any anion

associated with it.


https://dl.doubtnut.com/l/_1RkqI14db0sE
https://dl.doubtnut.com/l/_GdqbI8rVRlT3

The alkaline earth metal which does no directly

combine with hydrogen is

A. Be

B.Ca

C.Sr

D. Ba

Answer: A

o Watch Video Solution

34. Both alkali metals and alkaline earth metals are

s — block elements. They resemble each other in


https://dl.doubtnut.com/l/_GdqbI8rVRlT3
https://dl.doubtnut.com/l/_sNmxjEj10WQd

many respects but still there are certain
dissimilarities in their properties due to different
number of electrons in the valence shell, different
atomic radii, ionisation enthalpy, electronegativity,
etc.

Like lithium, Be also differs from rest of the alkaline
earth metals on account of its small atomic size and
high electronetativity. Be’Tion s very small and
exerts a high polarising effect on any anion
associated with it.

The solubility in water of sulphates down the group

(|l )isBe > Mg > Ca > Sr > Ba.this si due to

A. Increases in melting point

B. Increases in molecular mass


https://dl.doubtnut.com/l/_sNmxjEj10WQd

C. Decreases in lattice enthalpy

D. High heat of solvation for smaller ions

Answer: D

° Watch Video Solution

35. Both alkali metals and alkaline earth metals are
s — block elements. They resemble each other in
many respects but still there are certain
dissimilarities in their properties due to different
number of electrons in the valence shell, different
atomic radii, ionisation enthalpy, electronegativity,

etc.


https://dl.doubtnut.com/l/_sNmxjEj10WQd
https://dl.doubtnut.com/l/_MBIHvtSKy2g6

Like lithium, Be also differs from rest of the alkaline
earth metals on account of its small atomic size and
high electronetativity. Be?'ion is very small and
exerts a high polarising effect on any anion
associated with it.

Which of the bicarbonate does not exist in solid

state?

A. NCLHCOg
B. KHCO3;
C. Ca(H003)2

D. RRHCO4

Answer: C



https://dl.doubtnut.com/l/_MBIHvtSKy2g6

l & Watch Video Solution ]

36. Both alkali metals and alkaline earth metals are
s — block elements. They resemble each other in
many respects but still there are certain
dissimilarities in their properties due to different
number of electrons in the valence shell, different
atomic radii, ionisation enthalpy, electronegativity,
etc.

Like lithium, Be also differs from rest of the alkaline
earth metals on account of its small atomic size and
high electronetativity. Be?'ion is very small and
exerts a high polarising effect on any anion

associated with it.


https://dl.doubtnut.com/l/_MBIHvtSKy2g6
https://dl.doubtnut.com/l/_eOO99xA9Xtb1

The alkaline earth metal which does no directly

combine with hydrogen is

A. Li

B. Be

CK

D.Ca

Answer: C

o Watch Video Solution

37. Limestone is a naturally occuring form of calcium

carbonate. It is used as building materials and also


https://dl.doubtnut.com/l/_eOO99xA9Xtb1
https://dl.doubtnut.com/l/_0xqGXAXekvZr

for manufacture of other building materials such as
portland cement. It is used for the production of
quickline and slaked lime which have wide
applications in  chemical, metallugical and
construction industry. The pure CaCOs;, called
precipitated calcium carbonate, is used extensively as
filler, providing bulk to materials such as paint,
plastics, printing links and rubber. it is also used in
toothpastes, cosmetics and antacids. Quicklime and
slaked lime are the cheapest and the most widely
used bases for neutralising unwanted acids. Lime is
used to neutralise acidic soils. An important
application of quicklime is in air pollution control for

the removal of SO, in electric power plants. slaked


https://dl.doubtnut.com/l/_0xqGXAXekvZr

lime is used in the manufature of other alkalis and
bleacing powder, in sugar refinig, in tanning hide and
in water softening.
The substance not likely to contain CaCOys is

A. Dolomite

B. A marble statue

C. Sea shells

D. Calcined gypsum

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0xqGXAXekvZr

38. Limestone is a naturally occuring form of calcium
carbonate. It is used as building materials and also
for manufacture of other building materials such as
portland cement. It is used for the production of
quickline and slaked lime which have wide
applications in  chemical, metallugical and
construction industry. The pure CaCOs, Ccalled
precipitated calcium carbonate, is used extensively as
filler, providing bulk to materials such as paint,
plastics, printing links and rubber. it is also used in
toothpastes, cosmetics and antacids. Quicklime and
slaked lime are the cheapest and the most widely
used bases for neutralising unwanted acids. Lime is

used to neutralise acidic soils. An important


https://dl.doubtnut.com/l/_MaO0gBgv2Z9F

application of quicklime is in air pollution control for
the removal of SO, in electric power plants. slaked
lime is used in the manufature of other alkalis and
bleacing powder, in sugar refinig, in tanning hide and
in water softening.
Slaked lime reacts with chlorine to give

A. CCLCl2

B. CaO

C.CaOCl,

D. CCLCOg

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_MaO0gBgv2Z9F

39. Limestone is a naturally occuring form of calcium
carbonate. It is used as building materials and also
for manufacture of other building materials such as
portland cement. It is used for the production of
quickline and slaked lime which have wide
applications in  chemical, metallugical and
construction industry. The pure CaCOs, Ccalled
precipitated calcium carbonate, is used extensively as
filler, providing bulk to materials such as paint,
plastics, printing links and rubber. it is also used in
toothpastes, cosmetics and antacids. Quicklime and
slaked lime are the cheapest and the most widely

used bases for neutralising unwanted acids. Lime is


https://dl.doubtnut.com/l/_MaO0gBgv2Z9F
https://dl.doubtnut.com/l/_b2lBrgSddgsE

used to neutralise acidic soils. An important
application of quicklime is in air pollution control for
the removal of SO, in electric power plants. slaked
lime is used in the manufature of other alkalis and
bleacing powder, in sugar refinig, in tanning hide and
in water softening.

Quiclime is

A. CaO
B. CaCOs
C.Ca(OH),

D. CCLSO4

Answer: A



https://dl.doubtnut.com/l/_b2lBrgSddgsE

l @ Watch Video Solution ]

40. Limestone is a naturally occuring form of calcium
carbonate. It is used as building materials and also
for manufacture of other building materials such as
portland cement. It is used for the production of
quickline and slaked lime which have wide
applications in  chemical, metallugical and
construction industry. The pure CaCOs;, called
precipitated calcium carbonate, is used extensively as
filler, providing bulk to materials such as paint,
plastics, printing links and rubber. it is also used in
toothpastes, cosmetics and antacids. Quicklime and

slaked lime are the cheapest and the most widely


https://dl.doubtnut.com/l/_b2lBrgSddgsE
https://dl.doubtnut.com/l/_z5oCTKYCbx2B

used bases for neutralising unwanted acids. Lime is
used to neutralise acidic soils. An important
application of quicklime is in air pollution control for
the removal of SO, in electric power plants. slaked
lime is used in the manufature of other alkalis and
bleacing powder, in sugar refinig, in tanning hide and
in water softening.

The drying agent which absorbs CO, and reacts

violently with water is

A. Sodium carbonate

B. Quicklime

C.Conc H,S50,

D. Alcohol


https://dl.doubtnut.com/l/_z5oCTKYCbx2B

Answer: B

o Watch Video Solution

41. Chemical ‘A’ is used for water softening to remove
temporary hardness. ‘A’ reacts with sodium carbonate
to generate caustic soda. When carbon dioxide is
bubbled through 'A" it turns cloudy. What is the

chemical formula of 'A

A. CCLCO?,
B. CCL(HCO?,)Q

C.Ca(OH),


https://dl.doubtnut.com/l/_z5oCTKYCbx2B
https://dl.doubtnut.com/l/_yuzuhcNq0d3J

D. C&Clz

Answer: C

o Watch Video Solution

42. Limestone is a naturally occuring form of calcium
carbonate. It is used as building materials and also
for manufacture of other building materials such as
portland cement. It is used for the production of
quickline and slaked lime which have wide
applications in  chemical, metallugical and
construction industry. The pure CaCOs;, called

precipitated calcium carbonate, is used extensively as


https://dl.doubtnut.com/l/_yuzuhcNq0d3J
https://dl.doubtnut.com/l/_lSYCrOBpPnF8

filler, providing bulk to materials such as paint,
plastics, printing links and rubber. it is also used in
toothpastes, cosmetics and antacids. Quicklime and
slaked lime are the cheapest and the most widely
used bases for neutralising unwanted acids. Lime is
used to neutralise acidic soils. An important
application of quicklime is in air pollution control for
the removal of SO, in electric power plants. slaked
lime is used in the manufature of other alkalis and
bleacing powder, in sugar refinig, in tanning hide and
in water softening.

Quicklime is used in electric power plants with carbon
to check pollution. What product of calcium is

formed?


https://dl.doubtnut.com/l/_lSYCrOBpPnF8

A CCLSO3

B. CCLSO4

C.CaS

D.CaS04.10H50

Answer: A

° Watch Video Solution

Exercises Multiple Correct

1. Which of the following is/are example (s) if

diagonal pairs?


https://dl.doubtnut.com/l/_lSYCrOBpPnF8
https://dl.doubtnut.com/l/_sIG7QlYhiM4q

A. Li and Na

B. L7 and Be

C.L: and Mg

D. Be and Al

Answer: C::D

° Watch Video Solution

2. Sodium sulphate is soluble in waterwhereas

barium sulphate is sparingly soluble because


https://dl.doubtnut.com/l/_sIG7QlYhiM4q
https://dl.doubtnut.com/l/_I3ExT7flbMbr

A.The hydration enthalpy of NaySO, is more

than its lattice enthalpy.

B. The lattice enthalpy of BaSO, is more than its

hydration enthalpy.

C.The lattice enthalpy has no role to play in

solubility.

D. The lattice enthalply of NaySO, is more than

its hydration enthalpy.

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_I3ExT7flbMbr
https://dl.doubtnut.com/l/_WTEFStkeNHM9

3. Which of the following statements are false?

A. BeCl, exists as dimer in the vapour state and

polymeric in the solid state.

B. Calcium hydride is called hydrolith.

C. The oxides of Be and C'a are amphoteric.

D. Bicarbonates of Na and Sr are insoluble in

water.

Answer: C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_WTEFStkeNHM9

4. Which of the folowing elements form peroxides

when heated in excess of air?

A K

B. Na

C. Ba

D.Ca

Answer: B::C::D

o Watch Video Solution

5. The alkaline earth metals forming ionic oxides are


https://dl.doubtnut.com/l/_mgNYuDTwri1P
https://dl.doubtnut.com/l/_9YRt3yKdVpGA

A. BeO

B. MgO

C.CaO

D. SrO

Answer: B::C::D

° Watch Video Solution

6. Which of the following groups of elements have

properties that are most similar?

A. Sr


https://dl.doubtnut.com/l/_9YRt3yKdVpGA
https://dl.doubtnut.com/l/_AdoFdsFW8dCv

B.Ca

C. Ba

D. Be

Answer: A::B::C

o Watch Video Solution

7. Which of the following groups of elements have

properties that are most similar?

A. Na, K,Cs

B. Mg, Sr, Ba


https://dl.doubtnut.com/l/_AdoFdsFW8dCv
https://dl.doubtnut.com/l/_cKf1uZdpqUP1

C. Be, Al, Ca

D. Be, Ra, C's

Answer: A::B::C

° Watch Video Solution

8. Magnesium burns in the atmoshphere of the

following gases?

A.CO,

B. N;O

C. N,


https://dl.doubtnut.com/l/_cKf1uZdpqUP1
https://dl.doubtnut.com/l/_hCeXC4aIrlh3

D. SO,

Answer: A::B::C::D

o Watch Video Solution

9. Which of the following properties show a reverse

trend in moving down the group of alkali and alkaline

earth metals?

A. Solubility of hydroxides

B. Solubility of carbonates

C. Solubility of sulphates

D. Solubility of oxides


https://dl.doubtnut.com/l/_hCeXC4aIrlh3
https://dl.doubtnut.com/l/_MjE3ckFQwazp

Answer: B::C

° Watch Video Solution

10. In which of the following, hydration enthalpy is

greater than the lattice enthalphy?

A. BCLSO4

B. B(J,COg

C. NCLzSO4

D. Na2 003

Answer: C::D

.y l


https://dl.doubtnut.com/l/_MjE3ckFQwazp
https://dl.doubtnut.com/l/_4APShWc7zGmv

| ¥ vvatch vVideo Solution ]

1. Which of the following statements (s) is/are not

true about the diagonal relationship of Be and Al?

A. Their oxides are basic

B. They become passive by conc HNO;

C. Both react with NaOH to liberate hydrogen

D. Their carbides give acetlylene on hydrolysis

Answer: A::D

° Watch Video Solution



https://dl.doubtnut.com/l/_4APShWc7zGmv
https://dl.doubtnut.com/l/_YCVfqVKd2W2f
https://dl.doubtnut.com/l/_CDkO7LGBtai3

12. yellow phosphorus on reaction with Ca(OH),
gives:

A. CCL(H2P04)2

B. CCL(H2PO2)2

C. PH,

D. PH,

Answer: A::C

° Watch Video Solution

13. Which of the following pairs can be distinguished

by the action of heat?


https://dl.doubtnut.com/l/_CDkO7LGBtai3
https://dl.doubtnut.com/l/_hcy5HjXENhMP

A. NO,QCOg and C(LCO3
B. KoCO3 and MgCOs
C.Ca(NOj3), and NaNOj

Answer: A::B

° Watch Video Solution

14.The hydration energy of Mg”™ is larger than that

of:

A ABRT


https://dl.doubtnut.com/l/_hcy5HjXENhMP
https://dl.doubtnut.com/l/_lkV36zoPI7iD

B. Be? ™

C. Na®

D.K®

Answer: C::D

° Watch Video Solution

15. Which among the following has the tendency to

form covalent compounds?

A. Li

B. Be


https://dl.doubtnut.com/l/_lkV36zoPI7iD
https://dl.doubtnut.com/l/_QeuPrE4xV5Yi

C.Sr

D. Mg

Answer: A::B

o Watch Video Solution

16. Identify the correct statement(s).

A. Gypsum contains a lower percentage of calcium
than plaster of paris.

B. Gypsum is C'aS0O4.2H,0.


https://dl.doubtnut.com/l/_QeuPrE4xV5Yi
https://dl.doubtnut.com/l/_kCKlta4PWQ2g

C. Plaster of paris is obtained by hydration of

gypsum.

D. Gypsum is obtained by hydration of plaster of

paris.

Answer: A::B::D

° Watch Video Solution

17. Select the correct statements about barium:

A. It shows photoelectric effect.

B. It is silvery white metal.


https://dl.doubtnut.com/l/_kCKlta4PWQ2g
https://dl.doubtnut.com/l/_04iX0Z7evEKZ

C.It forms Ba(NOs), which is used in
preparation of green fire.

D. Its ionisation enthalply is less than radium.

Answer: B::C::D

o Watch Video Solution

18. Which of the following oxides have rock salt

structure with coordination number 6: 67

A. BeO

B. MgO


https://dl.doubtnut.com/l/_04iX0Z7evEKZ
https://dl.doubtnut.com/l/_ECTY1wcVOwm6

C.CaO

D. SrO

Answer: B::C::D

o Watch Video Solution

19. M g and Zn have the following resemblance:

A. MgO and ZnQO are amphoteric.

B. MgCO3 and ZnCQOs5; both on heating give

corresponding oxide.

C.Both are used as electrodes.


https://dl.doubtnut.com/l/_ECTY1wcVOwm6
https://dl.doubtnut.com/l/_EhUlIWUK8mKA

D. Both are used to prevent corrosion

Answer: B::C::D

o Watch Video Solution

20. Be and Al have the following resemblance due to

diagonal relationship,

A. Have nearly equal electronegativity

B. Form amphoteric oxides

C. Have same charge/radius ratio

D. Both form dimeric halides


https://dl.doubtnut.com/l/_EhUlIWUK8mKA
https://dl.doubtnut.com/l/_MWPkEJgJDmPF

Answer: A::B::C::D

° Watch Video Solution

21. The correct statement(s)is /are

A. Be(Cl, is a covalent compound
B. BeCl, can form dimer
C. BeCl, is an electron-deficient molecule

D. The hybrid state of Be in BeCl, is sp®

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_MWPkEJgJDmPF
https://dl.doubtnut.com/l/_a6CxlADcpokg

22. Which of the following metal(s) do (es) not give

characteristic flame colouration?

A.Ca

B. Mg

C. Be

D. Na

Answer: B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_a6CxlADcpokg
https://dl.doubtnut.com/l/_ZXC6mK9cAmDo

23. Gypsum on heating gives

1
A. CCLSO4. 5H20
B. CCLSO4
C.CaO + 503

D.CaS + 02

Answer: A::B::C

° Watch Video Solution

24. Dolotime is a mineral of


https://dl.doubtnut.com/l/_Fiuk3pyDebkJ
https://dl.doubtnut.com/l/_nRg7r8Mic57S

A. Aluminium

B. Magnesium

C. Calcium

D. Potassium

Answer: B::C

° Watch Video Solution

25. Mg®>" can be detected and esitimated in hard
water by titrating with EDTA at pH = 10 using
NH,OH + NH,CI buffer. End point is given by the

apearance of blue colour. The indicator used is


https://dl.doubtnut.com/l/_nRg7r8Mic57S
https://dl.doubtnut.com/l/_rsZrLhcenxEr

A. Solochrome black

B. Eriochrome black T’

C. Eosin

D. Bromophenol

Answer: A::B

° Watch Video Solution

Exercises Single Correct

1. Berllium shows diagonal relationship with


https://dl.doubtnut.com/l/_rsZrLhcenxEr
https://dl.doubtnut.com/l/_pFxqZSeHk5iv

A Mg

B. Na

C. Al

D.B

Answer: C

° Watch Video Solution

2. Dolomite is mineral whose formula is

A CCLCOg

B. M9003


https://dl.doubtnut.com/l/_pFxqZSeHk5iv
https://dl.doubtnut.com/l/_LhJm4qNehwgu

C. C(LCO3

D.CaS04.2H,0

Answer: C

o Watch Video Solution

3. The ionisation enthalpy of alkaline earth metals is

A. Greater than alkali metals but less than

elements of group 13

B. less than alkali metals

C. Greater than elements of groups 1 and 13


https://dl.doubtnut.com/l/_LhJm4qNehwgu
https://dl.doubtnut.com/l/_0AnSsyEN7mHu

D. Equal to alkali metals

Answer: C

° Watch Video Solution

4. Formula of Gypsum is

A.CaS04.2H20
1

B.CaS0Oy, EHQO

C. 20&504 H2O

D. CCLS’LOg

Answer: A


https://dl.doubtnut.com/l/_0AnSsyEN7mHu
https://dl.doubtnut.com/l/_E6wfJbJIdNlJ

o Watch Video Solution

5. C'aC) reacts with water to give

A. Methane

B. Ethane

C. Ethylene

D. Acetylene

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_E6wfJbJIdNlJ
https://dl.doubtnut.com/l/_kPH7jdUi7nnj

6. Plaster of paris is

1
A. C’aSO4. 5H20
B. CCLSO42H20
C.CaS0y4. CaCO;

D. CCLSO45H20

Answer: A

o Watch Video Solution

7. Mixure of CaC N, and C'is called


https://dl.doubtnut.com/l/_P59nGPmgy79N
https://dl.doubtnut.com/l/_nPpWwXryxblR

A. Barytes

B. Anhydrite

C. Nitrolim

D. Iceland spar

Answer: C

° Watch Video Solution

8. Lithopone is a mixture of

A. BaSO, and BaS

B. BaSO, and ZnS


https://dl.doubtnut.com/l/_nPpWwXryxblR
https://dl.doubtnut.com/l/_xlLMkJpUDGb8

C. BaO and ZnS

D. BaCO3 and ZnO

Answer: B

o Watch Video Solution

9.Slake lime is prepared by adding water to

1
A. CCLSO4. §H20
B. CaCl,
C.CaO

D. CCLCO?,


https://dl.doubtnut.com/l/_xlLMkJpUDGb8
https://dl.doubtnut.com/l/_0LiDfwPyBmAJ

Answer: C

o Watch Video Solution

10. Which of the following is not present in cement ?

A. Gypsum

B. Clay

C. Almina

D. Alum

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_0LiDfwPyBmAJ
https://dl.doubtnut.com/l/_SIYfKTdEkIAl

11. Which of the following metals cannot be obtained

by electrolysis /

A Ag

B. Mg

C.Cu

D. Au

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SIYfKTdEkIAl
https://dl.doubtnut.com/l/_vvXDginCRcUw

12. An important ore of magnesium is

A. Malachite

B. Cassiterite

C. Carnallite

D. Galena

Answer: C

o Watch Video Solution

13. When gypsum is heated to 393K, it FIGUREorms:


https://dl.doubtnut.com/l/_RY9Z5rH21iRQ
https://dl.doubtnut.com/l/_sySzKjRLp7g8

A C&SO42HQO
B. CCLSO4

1
C. CCLSO4. EHzO

D. SO5; and CaO

Answer: C

° Watch Video Solution

14. Ripening of fruits can be carried out in presence

of

A. NCLQSO4


https://dl.doubtnut.com/l/_sySzKjRLp7g8
https://dl.doubtnut.com/l/_fOGfBtFl68xX

B. NaCl

C. CCLOlg

D. CCLC2

Answer: D

o Watch Video Solution

15. The drying agent which absorbs carbon dioxide

and reacts violently with water is

A. Sodium carbonate

B. Alcohol


https://dl.doubtnut.com/l/_fOGfBtFl68xX
https://dl.doubtnut.com/l/_E3Dpmj6bfLI0

C.Conc H,50,

D. Calcium oxide

Answer: D

o Watch Video Solution

16. Calcium is obtained by the

A. Roasting of limestone

B. Electrolysis of a solution of calcium chloride in

water

C. Reduction of calcium chloride with carbon


https://dl.doubtnut.com/l/_E3Dpmj6bfLI0
https://dl.doubtnut.com/l/_mwRflKfO2u48

D. Electrolysis of molten anhydrous calcium

chloride

Answer: D

o Watch Video Solution

17. The difference of water molecules in gypsum and

plaster of Paris is

A5
1


https://dl.doubtnut.com/l/_mwRflKfO2u48
https://dl.doubtnut.com/l/_foVlZ1KNmdCK

Dl1
2

Answer: D

o Watch Video Solution

18. Solubility of an ionic compound in water is mainly
dependent on:

a.Lattice enthalpy, b. Hydration enthalphy

Both these factors oppose each other and the
resultant of these determines the solubility of an
ionic compound in water. If lattce enthalpy has
greater value, the compound is less soluble.

In case hydration enthalpy has greater value, the


https://dl.doubtnut.com/l/_foVlZ1KNmdCK
https://dl.doubtnut.com/l/_dgYVQv8r4Rd3

compound is

highly soluble in water.

Which of the following is more soluble in water?

A MgSO4

B. CCLSO4

C. STSO4

D. BCLSO4

Answer: A

o Watch Video Solution

19.Ca’" is isoelectronic with


https://dl.doubtnut.com/l/_dgYVQv8r4Rd3
https://dl.doubtnut.com/l/_xeHFHa21hAoa

A Mg?™
B. Kr
C.Ar

D. Na®

Answer: C

° Watch Video Solution

20. Which of the following decomposes at highest

temperature?

A. S’I"CO3


https://dl.doubtnut.com/l/_xeHFHa21hAoa
https://dl.doubtnut.com/l/_IUxG2EKI1fcN

B. BCLCOg

C. CCLOO?,

D. MgCOg

Answer: B

o Watch Video Solution

21. Which of the following electronic configuration in
the outermost two shells is characteristic of the

alkaline earth metals?

A. (n — 1)s*pns?

B.(n — 1)s°p°d'ns?


https://dl.doubtnut.com/l/_IUxG2EKI1fcN
https://dl.doubtnut.com/l/_qxje34AyIBgR

C.(n — 1)s*p*ns’p!

D. none of these

Answer: D

° Watch Video Solution

22. When a substance A reacts with water it produces
a combustible gas B and a solution of substance C in
water. When another substance D reacts with this
solution of C, it also produces the same gas B on
warming but D can also produce gas B on rection
with dilute sulphuric acid at room with dilute

sulphuric acid at room temperature. A imparts a deep


https://dl.doubtnut.com/l/_qxje34AyIBgR
https://dl.doubtnut.com/l/_w9u04C33e6Y5

flameof yellow colour to a smokeless flame of

Bunesen burner. AB,C and D, respectively are

A K, Hy,, KOH, Al
B. NaH,, NaOH, Zn
C. CCLCz, 02H2, C(I(OH)2, Fe

D.Ca, Hy, Ca(OH),, Sn

Answer: B

o Watch Video Solution

23. The basic strength of which hydroxide is

maximum


https://dl.doubtnut.com/l/_w9u04C33e6Y5
https://dl.doubtnut.com/l/_GOazUk0kZszT

A. LiOH
B. NaOH
C.Ca(OH),

D. KOH

Answer: D

° Watch Video Solution

24. Of the following , and amphoteric hydroxide is

A.Ca(OH),

B. NaOH


https://dl.doubtnut.com/l/_GOazUk0kZszT
https://dl.doubtnut.com/l/_HykOuDAWgcRD

C. Be(OH),

D. LiOH

Answer: C

o Watch Video Solution

25. The following compounds have been arranged in
order of their increasing stabilities. Identify the
correct order.

() KsCO;3 (1) MgCOs4

() CaCOs5 (IV) BeCOsq

Al <II<III <IV


https://dl.doubtnut.com/l/_HykOuDAWgcRD
https://dl.doubtnut.com/l/_HsyOtgCJOpes

B.IV < II < III <1

CIV <II <I<III

D.IT <1V <III <1

Answer: B

o Watch Video Solution

26. Magnesium combines with nitrogen to form a
nitride, which reacts with water to form a colourless
gas. The gas is

A NH,

B. N;O


https://dl.doubtnut.com/l/_HsyOtgCJOpes
https://dl.doubtnut.com/l/_dfBMQcfNF2pq

C.NO

D. N,O

Answer: A

o Watch Video Solution

27. Which has the highest electronegativity?

A Lz

B. Be

C. Mg

D. Na


https://dl.doubtnut.com/l/_dfBMQcfNF2pq
https://dl.doubtnut.com/l/_WVtAydiCz4ym

Answer: B

° Watch Video Solution

28. Which of the folowing

disproportionation?

A. Ba’™t

B. Ba®

C. BCLHQ

D. BCLSO4

Answer: B

undergoes

.y


https://dl.doubtnut.com/l/_WVtAydiCz4ym
https://dl.doubtnut.com/l/_pO6g4rTBA5o0

| ¥ vvatch video sSolution

29. Which of the following is soluble in acetic acid?

A CCLCOg
B. CaC’204
C.Ca(OH),

D. CaO

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_pO6g4rTBA5o0
https://dl.doubtnut.com/l/_HEEElwf9hRuO

30. Which of the following fluoride is more soluble in

water?

A. BCLF2

B. B€F2

D. CCLFQ

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_NsMmrNWVYwpZ

31. Why does the solubility of alkaline earth metal

carbonates and sulphates in water decrease down

the group ?

A. 36003 > MQOO3 > CCLCO?, > BCLCOg

B. BeCO3 > CaCO3 > MgCO?, < BaCOs

C. BeCO3 < M9003 < CaCO3 < BaCOs4

D. BaCO3 < BeCO3 < MgC0O3 < CaCOs

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wCegM59xsril

32. Epsom salt's chemical formula is

A. MgSO47H20
B.CaS04.2H50
C. CCLSO4

D. FCSO4. (NH4)2SO46H20

Answer: A

o Watch Video Solution

33. Which of the following alkaline earth metal oxide

is most basic?


https://dl.doubtnut.com/l/_zSCtQW8KI2Zu
https://dl.doubtnut.com/l/_WsxODZfjYb79

A. BeO

B. MgO

C.CaO

D. BaO

Answer: D

° Watch Video Solution

34. Which of the following metal reacts with cold

H,0 with the evolution of Hy gas?

A.Ca


https://dl.doubtnut.com/l/_WsxODZfjYb79
https://dl.doubtnut.com/l/_qKN6GHLhrjzA

B. Al

C.Zn

D.Cu

Answer: A

° Watch Video Solution

35. Which of the following salt will give a green

colour in fire works?

A .Ca

B. Ba


https://dl.doubtnut.com/l/_qKN6GHLhrjzA
https://dl.doubtnut.com/l/_bJS3MqwHkFJ0

C. Mg

D. Sr

Answer: B

° Watch Video Solution

36. Which of the following does not contain the true

peroxide ion?

A. Na,g 02

B. H,0,

C. BCL02


https://dl.doubtnut.com/l/_bJS3MqwHkFJ0
https://dl.doubtnut.com/l/_pITW6RN20tcx

D. S’I“Oz

Answer: B

o Watch Video Solution

37. (a). Mention the most abundant and least
abudant alkaline earth

metal in the earth's crust.

b. Arrange alkaline earth metals in order of
decreasing hydration enthalpy.

c. Ca, Sr and Ba generally form ionic compounds.
why?

d. Mention colours of C'a, Ba and Sr in flame test.


https://dl.doubtnut.com/l/_pITW6RN20tcx
https://dl.doubtnut.com/l/_D5p3YwDkcKf1

A. Be

B. Mg

C.Ca

D. Sr

Answer: C

° Watch Video Solution

38. The hydration energy of Mg®™ is larger than that

of:

A APRT


https://dl.doubtnut.com/l/_D5p3YwDkcKf1
https://dl.doubtnut.com/l/_4qjcvABl601T

B. Na®

C.Ca®t

D. Sr2 ™

Answer: B

o Watch Video Solution

39. Which of the following alkaline earth metal
carbonate is thermally
least stable?

A. BeCOg

B. CaCOs3


https://dl.doubtnut.com/l/_4qjcvABl601T
https://dl.doubtnut.com/l/_wqjzWW5zinsG

C. MgCO3

D. BCLCOg

Answer: A

o Watch Video Solution

40. The basic chartacter of the alkaline earth metal

hydroxides is as follows:

Mg(OH), > Ba(OH), > Ca(OH), > Sr(OH),


https://dl.doubtnut.com/l/_wqjzWW5zinsG
https://dl.doubtnut.com/l/_1K9MRbBmA5K9

Ba(OH), > Sr(OH), > Ca(OH), > Mg(OH),

Sr(OH), > Ca(OH), > Ba(OH), > Mg(OH),

Mg(OH), > Ba(OH), > Sr(OH), > Ca(OH),

Answer: B

° Watch Video Solution

41. The carbonate of which of the following cation is

soluble in water ?


https://dl.doubtnut.com/l/_1K9MRbBmA5K9
https://dl.doubtnut.com/l/_jloZDnfX83lR

A. Mg(H003)2
B. NCLHCO?,
C. KHCO;3

D. Ca(HCO),

Answer: B

° Watch Video Solution

42. Which of the following metal is the most difficult

to extract from its oxide?

A.Cs


https://dl.doubtnut.com/l/_jloZDnfX83lR
https://dl.doubtnut.com/l/_RUdnLliWNfGB

B.Ca

C.Mg

D.Ag

Answer: A

o Watch Video Solution

43. The most probable reason that the alkaline earth
metals give dipositive ions instead of unipositive ion
is

A. The compounds with +2 oxidation state have

more lattice enthalpy than those with 41


https://dl.doubtnut.com/l/_RUdnLliWNfGB
https://dl.doubtnut.com/l/_emriADD1vUjN

oxidation state.

B. The values of their first and second ionisation

potential are not very much different.

C.The dipositive ion has grater charge than the

unipositive ion.

D. The compounds of +1 oxidation state of these

metals are not stable.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_emriADD1vUjN

44, The oxidation state of the mst electronegative

element in the products of the reaction between

BaOs and H550, are

A0and —1

B.—1 and — 2

C.—2 and O

D.—2 and +1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gcLtQdvobwof

45. Anhydrous MgCl, is obatined by heating hydrate

salt, MgCly.6 H,O.

A. Strongly in air

B. In presnence of coke

C.In presence of conc H5S50, which absorbs

moisture

D. In presence of dry HC'l gas

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_xgLCEjHz9oQ6

46. Which of the following is used as an antacid?

A. MgO
B. Mg(OH),
C. MgSO4

D. MgCOg

Answer: B

o Watch Video Solution

47. Typical elements is the name given to the

elements of


https://dl.doubtnut.com/l/_rWb7qZTXqe9Y
https://dl.doubtnut.com/l/_9LwAUjUDHObb

A.Zero group

B. Group 2

C. 3rd period

D. Group 1

Answer: B

° Watch Video Solution

48. Assertion : NaySO, is soluble in water while
BaSO, is water insoluble.
Reason :lLattice energy of BaSO, exceeds its

hydration energy.


https://dl.doubtnut.com/l/_9LwAUjUDHObb
https://dl.doubtnut.com/l/_fZX6YN1XGrQJ

A.The lattice enthalpy of NaySOy is less than its

hydration enthalpy.

B. Sodium is monovalent ion whereas barium is a

divialent ion.

C.The hydration enthalpy of sodium sulphate is

less than its lattice enthalpy.

D. The lattice enthalply of barium sulphate is less

than its hydration enthalpy.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fZX6YN1XGrQJ
https://dl.doubtnut.com/l/_nOGtEs2cxy47

49. Mg burns in air to give

A. M93N2

B. MgO

C. MgO and Mg3N,

D. MgO and MgsN,

Answer: C

° Watch Video Solution

50. Which of the following is decomposed

heating?

on


https://dl.doubtnut.com/l/_nOGtEs2cxy47
https://dl.doubtnut.com/l/_eFWrDeFt1GZl

A. Na2 003

B. M9003

C. K,CO4

D. Pb,CO4

Answer: B

° Watch Video Solution

51. Two metals X and Y belong to the cond group of
periodic table. X forms insoluble oxide but soluble
sulphate. Y forms a soluble oxide but insoluble

sulphate. Hydroxide of metal X is soluble in NaOH


https://dl.doubtnut.com/l/_eFWrDeFt1GZl
https://dl.doubtnut.com/l/_A1gMv8a9rrX9

while that of metal Y is insoluble in NaOH. What are

metals X and Y?

A. Ba and Mg

B. Na and K

C. Mg and Ba

D. K and Rb

Answer: C

o Watch Video Solution

52. Which of the follwing forms covalent compound?


https://dl.doubtnut.com/l/_A1gMv8a9rrX9
https://dl.doubtnut.com/l/_OfgYxcH0V7NY

A. Be

B. Mg

C.Ca

D. Sr

Answer: A

° Watch Video Solution

53. The compounds of alkaline earth metals have the
following

magnetic nature:

A. Diamagnetic


https://dl.doubtnut.com/l/_OfgYxcH0V7NY
https://dl.doubtnut.com/l/_88KUpxm8ITCI

B. Antiferromagnetic

C. Ferromagnetic

D. Paramagnetic

Answer: A

o Watch Video Solution

54. For two ionic solids CaO and Kil, identify the

wrong statement among the following

A. Lattice enthalpy of CaO is much higher than

that of K1.


https://dl.doubtnut.com/l/_88KUpxm8ITCI
https://dl.doubtnut.com/l/_kI0QHrW6vuzE

B. CaO has high melting point.

C. K1 has low melting point.

D. K I is soluble in benzene.

Answer: D

o Watch Video Solution

55. Which of the following substance can be used for

drying neutral or basic gases?

A. NCL2 003

B. CCLCO?,


https://dl.doubtnut.com/l/_kI0QHrW6vuzE
https://dl.doubtnut.com/l/_ZrfVit9u4PrE

C.CaO

D. NCL2 003

Answer: C

o Watch Video Solution

56. As the nuclear charge increases from neon to

calcium, the orbital energies

A. Increase

B. Increases very rapidly

C. increases very slowly


https://dl.doubtnut.com/l/_ZrfVit9u4PrE
https://dl.doubtnut.com/l/_ON4XBsfJhmY9

D. Fall

Answer: D

° Watch Video Solution

57. Which one is the active constituent of bleaching
powder?

A.Ca(OCI)Cl

B.Ca(OCI),

C.Ca(ClO,),

D. Ca(ClO,)Cl


https://dl.doubtnut.com/l/_ON4XBsfJhmY9
https://dl.doubtnut.com/l/_f9LjEuSOKmOe

Answer: B

° Watch Video Solution

58. Bleaching powder loses its power on keeping for a

long time

because

A. It absorbs moisture

B. It changes into calcium hypochlorite

C.It changes into calcium chloride and calcium

chlorate


https://dl.doubtnut.com/l/_f9LjEuSOKmOe
https://dl.doubtnut.com/l/_gt5UxMxG7k4d

D. It cahnges salt of calcium chloride and calcium

hydroxide

Answer: B

o Watch Video Solution

59. A sodium salt of unknown anion when treated
with M gCl, gives a white ppt. On boiling. The anion
is

A.HCO?

B.CO%~

C.S0;"


https://dl.doubtnut.com/l/_gt5UxMxG7k4d
https://dl.doubtnut.com/l/_nScgrhgDVuI4

D. NO?

Answer: A

o Watch Video Solution

60. Which of the following on thermal decomposition

yields a basic as well as an acidic oxide ?

A. KClO4

B. NG,QCOg

C. NCLNOg

D. CCLCOg


https://dl.doubtnut.com/l/_nScgrhgDVuI4
https://dl.doubtnut.com/l/_2KWzaiiJUpUA

Answer: D

o Watch Video Solution

61. Limestone is a naturally occuring form of calcium
carbonate. It is used as building materials and also
for manufacture of other building materials such as
portland cement. It is used for the production of
quicklime and slaked lime which have wide
applications in  chemical, metallurgical and
construction industry. The pure CaCOs;, called
precipitated calcium carbonate, is used extensively as
filler, providing bulk to materials such as paint,

plastics, printing links and rubber. it is also used in


https://dl.doubtnut.com/l/_2KWzaiiJUpUA
https://dl.doubtnut.com/l/_t6mdBEsIjg2y

toothpastes, cosmetics and antacids. Quicklime and
slaked lime are the cheapest and the most widely
used bases for neutralising unwanted acids. Lime is
used to neutralise acidic soils. An important
application of quicklime is in air pollution control for
the removal of SO, in electric power plants. slaked
lime is used in the manufacture of other alkalis and
bleaching powder, in sugar refining, in tanning hide
and in water softening.

The substance not likely to contain CaCQOs is

A. Dolomite

B. A marble statue

C. Calcined gypsum


https://dl.doubtnut.com/l/_t6mdBEsIjg2y

D. Sea shells

Answer: A

o Watch Video Solution

62. One mole of magnesium nitride on reaction with

an excess of water gives :
A. One mole of NH;
B. Two moles of NHj
C.One mole of HNO;

D. Two moles of HNQO;


https://dl.doubtnut.com/l/_t6mdBEsIjg2y
https://dl.doubtnut.com/l/_bv39Udh842TO

Answer: B

° Watch Video Solution

63. Beryllium and aluminimum exhibit many

properties which are

similar . But, the two elements differ in

A. Forming covalent bonds

B. Forming polymeric hydrides

C. Exhibiting maximum covalency in compounds

D. Exhibiting amphoteric nature in their oxides

Answer: C


https://dl.doubtnut.com/l/_bv39Udh842TO
https://dl.doubtnut.com/l/_N9rHV7ll1NTh

o Watch Video Solution

64. Magnesium is an important component of which

biomolecule occuring extensively in living world?

A. Haemoglobin

B.ATP

C. Chlorophyll

D. Vitamin Bqs

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_N9rHV7ll1NTh
https://dl.doubtnut.com/l/_nEw8280YW6my
https://dl.doubtnut.com/l/_0Edshj9OyOzT

65. Serveral blocks of magnesium are fixed to the

bottom of a ship to

A. Prevent aciton of water and salt

B. Prevent puncturing by under sea rocks

C. keep away the sharks

D. Make the ship lighter

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0Edshj9OyOzT

66. The name and formula of the compound of
magnesium, chlorine and oxygen used as a drying
agent is

A. Magnesium oxychlorite, M g(OCl),

B. Magnesium chlorate, Mg(ClO3),

C. Magnesium chlorate, Mg(Cl0O,),

D. None of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OybKwf9B3x4C

67. Salt used as a purgative is

A. NaCl

B. MgClgﬁ_HzO

C. MgS0O,.7TH50

D. Ca,gAlz 06

Answer: C

o Watch Video Solution

68. A compound (A) gives brick red flame and breaks

down on heating giving oxygen and brown gas. (A)


https://dl.doubtnut.com/l/_g9Aoap5RLxj0
https://dl.doubtnut.com/l/_FJZDQKQ4GCTn

A. Na and Na,0,
B. Ba and BaO,
C. CCL(NO3)2

D.Ca and CaO

Answer: C

o Watch Video Solution

69. Which of the following pair of substance give

same gaseous product on reaciton with water?


https://dl.doubtnut.com/l/_FJZDQKQ4GCTn
https://dl.doubtnut.com/l/_ew5xEqftIUc2

A.Ca and CaH,
B. M9003
C. Mg(NOs),

D. CCL(NO?,)Z

Answer: C

° Watch Video Solution

70. An alkaline earth metal gives a salt with chlorine
which is sparingly soluble in water at room
tempreture but fairly soluble in boiling water. It also

forms a sulphate whose mixture with a sulphate of a


https://dl.doubtnut.com/l/_ew5xEqftIUc2
https://dl.doubtnut.com/l/_MX97yee5L6HT

transition metal is called 'lithopone' and is used as

white pigment. the alkaline earth metal is

A.Ca

B. Mg

C.Sr

D. Ba

Answer: D

o Watch Video Solution

71. The metal that is extracted from sea water is


https://dl.doubtnut.com/l/_MX97yee5L6HT
https://dl.doubtnut.com/l/_qb0vZCn4ej5J

A Mg

B.Ca

C. Be

D. Ba

Answer: A

° Watch Video Solution

72. The element which shows radioactivity is

A Mg

B. Sr


https://dl.doubtnut.com/l/_qb0vZCn4ej5J
https://dl.doubtnut.com/l/_2qymhXTiNaTt

C. Ba

D. Ra

Answer: D

o Watch Video Solution

73. Magnesium wire burns in the atomosphere of

CO5 because

A. Magnesium acts as an oxidising agent

B. magnesium has two electrons in the outermost

orbital


https://dl.doubtnut.com/l/_2qymhXTiNaTt
https://dl.doubtnut.com/l/_L5Zb5UIkJt8a

C. Magnesium acts as a reducing agent and

removes oxygen from CO,

D. None of the above

Answer: C

o Watch Video Solution

74. Silica reacts with magnesium to form magnesium

compound
(X). (X) reacts with dilute HCI and forms (V). (Y)

is:

A. MgO


https://dl.doubtnut.com/l/_L5Zb5UIkJt8a
https://dl.doubtnut.com/l/_Ln5bGYR5fFZP

B. MgSZOg

C.SiCly

Answer: D

o Watch Video Solution

75. On strong heating of C'aO and C, the products

formed are

A.Ca and CO

B.CaCy and CO


https://dl.doubtnut.com/l/_Ln5bGYR5fFZP
https://dl.doubtnut.com/l/_fMVlSdUjDbPX

C.Ca(OH),

D. CCLCz and COQ

Answer: B

o Watch Video Solution

76. The nature of the oxide of radium is

A. Basic

B. Acidic

C. Nautral

D. Amphoteric


https://dl.doubtnut.com/l/_fMVlSdUjDbPX
https://dl.doubtnut.com/l/_U82d0EBV0hCr

Answer: B

o Watch Video Solution

77.Radium is obtained from

A. Limestone

B. Rutile

C. Pitchblende

D. Barytes

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_U82d0EBV0hCr
https://dl.doubtnut.com/l/_b5cWhabnYBfC

78. Which of the following is used for taking the X —

ray spectra of the digestive system:

A. CCLSO4

B. BaSO,

C. MgSO4

D. BaCOg

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_b5cWhabnYBfC
https://dl.doubtnut.com/l/_aOBsMEd7UJIj

79. Among the given statements, the incorrect one is

A.Be differs much from other alkali metals than
Li does from other alkali metals.

B. Be generally forms covalent compounds.

C.Be forms a very strong complex,
[Be(H,0),]"".

D.Be usually has more than four water of

crystallisation associated with it.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_pGI3JmGIuEGu

80. Which of the following

hydrolysis?

A. Al,Cs

B. Mg203

C. B4Cg

D. La4 Cg

Answer: B

gives propyne on

o Watch Video Solution



https://dl.doubtnut.com/l/_m2LSMryUIvPk

81. A metal (A) on heating in nitrogen gas given
compound B.B on treatment with H,O givens a
colourless gas which when passed throught CuS0,
solution given a dark blue - violet coloured solution .
A and B respectivley are :

A. Mg(NOs3),

B. M g3 N,

C. NH,

D. MgO

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_pUSyF8lJBrtp

82. Mg is precipitated and estimated gravimetrically
as:

A.Mg(NH,)PO,

B. Mg(NH4PO46H20

C. Mg2P207

D. Mgg(PO4)2

Answer: C

o Watch Video Solution

Exercises Assertion Reasoning


https://dl.doubtnut.com/l/_pUSyF8lJBrtp
https://dl.doubtnut.com/l/_nJsID0ESZXXh

1. Assertion (A): Magnesium does not impart any
characteristic colour to the flame.
Reason (R ): Due to small size and high effective
nuclear charge, magnesium requires a large amount
of energy for excitation of electrons.
A.If both (A) and (R) are correct and (R) is the
correct explanation of (A).
B.If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

C.If (A) is correct, but (R) is incorrect.

D.If (A) is incrrect, but (R) is correct.


https://dl.doubtnut.com/l/_nmgc38mfJFe4

Answer: A

o Watch Video Solution

2. The atomic radii of alkaline earth metals are
smaller than those of the corresponding alkali

metals. Explain, why?

A.If both (A) and (R) are correct and (R) is the
correct explanation of (A).

B.If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

C.If (A) is correct, but (R) is incorrect.


https://dl.doubtnut.com/l/_nmgc38mfJFe4
https://dl.doubtnut.com/l/_RcrAISAdgcqG

D.If (A) is incrrect, but (R) is correct.

Answer: C

o Watch Video Solution

3. Assertion (A): Beryllium compounds are covalent in
nature.

Reason (R ): The size of Be’Tion is larger in
compariso to the radii of the other divalent ions of

alkaline earth metals.

A.If both (A) and (R) are correct and (R) is the

correct explanation of (A).


https://dl.doubtnut.com/l/_RcrAISAdgcqG
https://dl.doubtnut.com/l/_jcOJN4rgBoUU

B. If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).
C.If (A) is correct, but (R) is incorrect.

D.If (A) is incrrect, but (R) is correct.

Answer: C

° Watch Video Solution

4. BeSQy is soluble in water but BaSQ/ is insoluble.
Reason (R ): Lattice enthalpy of BaSO, exceeds its

hydration enthalpy.


https://dl.doubtnut.com/l/_jcOJN4rgBoUU
https://dl.doubtnut.com/l/_eNJTzAstPVok

A.If both (A) and (R) are correct and (R) is the
correct explanation of (A).

B.If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

C.If (A) is correct, but (R) is incorrect.

D.If (A) is incrrect, but (R) is correct.

Answer: A

° Watch Video Solution

5. Assertion (A): magnesium keeps on burning in CO,


https://dl.doubtnut.com/l/_eNJTzAstPVok
https://dl.doubtnut.com/l/_Oh4A17gdcuJd

Reason (R ): Magnesium reduces C O, to C.

A.If both (A) and (R) are correct and (R) is the
correct explanation of (A).

B.If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

C.If (A) is correct, but (R) is incorrect.

D. If (A) is incrrect, but (R) is correct.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Oh4A17gdcuJd

6.Be forms [BeFy|*>~, but Al forms [AiF5]° .
Reason (R ): Be does not have d-orbitals in the
valence shell but Al has.
A.If both (A) and (R) are correct and (R) is the
correct explanation of (A).
B.If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).
C.If (A) is correct, but (R) is incorrect.

D. If (A) is incrrect, but (R) is correct.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hpKH8wIdg4kI

7. Assertion (A): Magnesium can be obtained by the
electronlysis of aqueous solution of MgCl,.
Reason (R ): The electrode potential of Mngr is
much higher than H ®.
A.If both (A) and (R) are correct and (R) is the
correct explanation of (A).
B.If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

C.If (A) is correct, but (R) is incorrect.

D.If (A) is incrrect, but (R) is correct.


https://dl.doubtnut.com/l/_hpKH8wIdg4kI
https://dl.doubtnut.com/l/_neFDq2V84LMc

Answer: D

o Watch Video Solution

8. Assertion: Be and Mg do not impat characteristic
colour to the flame.

Reason: both Be and Mg have high ionization energy.

A.If both (A) and (R) are correct and (R) is the
correct explanation of (A).

B.If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

C.If (A) is correct, but (R) is incorrect.


https://dl.doubtnut.com/l/_neFDq2V84LMc
https://dl.doubtnut.com/l/_KKY70O61rFFq

D.If (A) is incrrect, but (R) is correct.

Answer: D

o Watch Video Solution

9. Assertion (A): magnesium is not present in enamel
of human teeth.
Reason (R ): Magnesium is an essential elements for

biological functions of human beings.

A.If both (A) and (R) are correct and (R) is the

correct explanation of (A).


https://dl.doubtnut.com/l/_KKY70O61rFFq
https://dl.doubtnut.com/l/_kuMMEmtAE4mV

B. If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).
C.If (A) is correct, but (R) is incorrect.

D.If (A) is incrrect, but (R) is correct.

Answer: B

° Watch Video Solution

10. Assertion (A): Barium is not required for normal
biological function in human beings.
Reason (R ): Barium does not show variable oxidation

states.


https://dl.doubtnut.com/l/_kuMMEmtAE4mV
https://dl.doubtnut.com/l/_fMMxB2uQuYr3

A.If both (A) and (R) are correct and (R) is the
correct explanation of (A).

B.If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

C.If (A) is correct, but (R) is incorrect.

D.If (A) is incrrect, but (R) is correct.

Answer: B

° Watch Video Solution

11. Assertion (A): Addtion of NH;OH to an aqueous

solution of BaCly; in the presence of excess of


https://dl.doubtnut.com/l/_fMMxB2uQuYr3
https://dl.doubtnut.com/l/_iSayxFuLsY8w

NH,ClI precipitates Ba(OH),.
Reason (R ): Ba(OH), is insoluble in water.
A.If both (A) and (R) are correct and (R) is the
correct explanation of (A).
B.If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).
C.If (A) is correct, but (R) is incorrect.

D. If (A) is incrrect, but (R) is correct.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iSayxFuLsY8w
https://dl.doubtnut.com/l/_7yKUqznHY9MG

12. Assertion (A): BaC O3 is more soluble in HNO;
than in water.
Reason (R ): Carbonate is a weak base and reacts with
H ? jons to form strong acid causing barium salt to
dissociate.
A.If both (A) and (R) are correct and (R) is the
correct explanation of (A).
B.If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

C.If (A) is correct, but (R) is incorrect.

D. If (A) is incrrect, but (R) is correct.

Answer: A


https://dl.doubtnut.com/l/_7yKUqznHY9MG

o Watch Video Solution

13. Assertion (A): Sulphur is estimates as BaS0O, and

not as MgSOj.
Reason (R ): The ionic radius of Mg2+ is less than
that of Ba*"
A.If both (A) and (R) are correct and (R) is the
correct explanation of (A).
B.If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).
C.If (A) is correct, but (R) is incorrect.

D.If (A) is incrrect, but (R) is correct.


https://dl.doubtnut.com/l/_7yKUqznHY9MG
https://dl.doubtnut.com/l/_YLTMMfQHXgDL

Answer: B

° Watch Video Solution

14. Assertion : NaySO, is soluble in water while
BaS0O, is water insoluble.
Reason :Lattice energy of BaSO, exceeds its
hydration energy.
A.If both (A) and (R) are correct and (R) is the
correct explanation of (A).

B.If both (A) and (R) are correct, but (R) is not

the correct explanation of (A).


https://dl.doubtnut.com/l/_YLTMMfQHXgDL
https://dl.doubtnut.com/l/_Z1nm4hVZ6Rjm

C.If (A) is correct, but (R) is incorrect.

D. If (A) is incrrect, but (R) is correct.

Answer: A

° Watch Video Solution

15. Assertion (A): Calcium and magnesium oxides are
not reduced by carbon.
Reason (R ): Calcium and magnesium oxides react

with carbon to form their respected carbides.

A.If both (A) and (R) are correct and (R) is the

correct explanation of (A).


https://dl.doubtnut.com/l/_Z1nm4hVZ6Rjm
https://dl.doubtnut.com/l/_Ex5rlbFaqVXP

B.If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).
C.If (A) is correct, but (R) is incorrect.

D.If (A) is incrrect, but (R) is correct.

Answer: A

° Watch Video Solution

16. Assertion (A): Be(OH), is soluble in NaOH.

Reason (R ): Be(OH), is amphoteric in nature.


https://dl.doubtnut.com/l/_Ex5rlbFaqVXP
https://dl.doubtnut.com/l/_6VNcOmd0Jeiw

A.If both (A) and (R) are correct and (R) is the
correct explanation of (A).

B.If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

C.If (A) is correct, but (R) is incorrect.

D.If (A) is incrrect, but (R) is correct.

Answer: A

° Watch Video Solution

17. Assertion (A): In curing cement plasters, water is

sprinkled form time to time.


https://dl.doubtnut.com/l/_6VNcOmd0Jeiw
https://dl.doubtnut.com/l/_rzSZm7bWn3GE

Reason (R ): It converts sand into silicic acid.

A.If both (A) and (R) are correct and (R) is the
correct explanation of (A).

B.If both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

C.If (A) is correct, but (R) is incorrect.

D.If (A) is incrrect, but (R) is correct.

Answer: C

o Watch Video Solution

Exercises Integer



https://dl.doubtnut.com/l/_rzSZm7bWn3GE

1. How many alkaline earth metals are known?

° Watch Video Solution

2. How many water molecules are associated with

Epsiom salt?

° Watch Video Solution

3. Calcium carbide reacts with nitrogen and forms an
important fertiliser, calcium cynamide. How much
calcium cynamide is formed when 6.4g of calcium

carbide is completely converted into cyanamide?


https://dl.doubtnut.com/l/_cRif5oLmsmSp
https://dl.doubtnut.com/l/_ibSyZNcu82rQ
https://dl.doubtnut.com/l/_AhF5hRJ9BHva

o Watch Video Solution

4. Magnalism is an alloy of aluminium and
magnesium. What is the percentage of of magnesium

in this alloy?

o Watch Video Solution

5. Magnesium oxide when mixed with a saturated
solution fo MgCl,, sets to a hard mass known as
'Sorel cement' is formed. The composition of sorel
cement is MgCly. nMgO. xH,0O. What is the value

of n?



https://dl.doubtnut.com/l/_AhF5hRJ9BHva
https://dl.doubtnut.com/l/_7xXUEGanZ0Wr
https://dl.doubtnut.com/l/_c31FAJUjvk3L

‘ ° Watch Video Solution

6. How many water molecules are present as water of

crystallisation in gypsum?

o Watch Video Solution

Exercises Fill In The Balanks

1. Alkaline earth metals are reducing agents

than alkali metals.

o Watch Video Solution



https://dl.doubtnut.com/l/_c31FAJUjvk3L
https://dl.doubtnut.com/l/_gIJnRXhVAJvJ
https://dl.doubtnut.com/l/_380kDHQAHnzF

2. Why are the second ionisation energies of alkaline

earth metals much smaller than those of alkali metals

° Watch Video Solution

3. Atomic size of calcium is than that of

potassium.

° Watch Video Solution

4. Hydrolith is

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_J2tiCAHSV8L3
https://dl.doubtnut.com/l/_uxBwQ3XGGX9T
https://dl.doubtnut.com/l/_g9gpworEkwc6

5.Barium salts impart _ colour to the flame.

° Watch Video Solution

6. The most abundant alkaline earth metal is

o Watch Video Solution

7.1n chlorophyll, the metal present is

° Watch Video Solution



https://dl.doubtnut.com/l/_g9gpworEkwc6
https://dl.doubtnut.com/l/_NEWFZfC8ItMl
https://dl.doubtnut.com/l/_9VHlqP8bEhcK
https://dl.doubtnut.com/l/_M8lmo4JkSFk3
https://dl.doubtnut.com/l/_7xdAcvQRWbil

8. Dead burnt plaster is

o Watch Video Solution

9. Suspension of slaked lime in water is known as

° Watch Video Solution

10. Ordinary black board chalk is made up of

° Watch Video Solution



https://dl.doubtnut.com/l/_7xdAcvQRWbil
https://dl.doubtnut.com/l/_Y4pz2oypYEUd
https://dl.doubtnut.com/l/_9FDDQt4nvq78

1. Calcium cynamide reacts with steam to form

° Watch Video Solution

12. Mixture of M gCl, and Mgo is called

o Watch Video Solution

13. The formula of calcium cynamide is

o Watch Video Solution



https://dl.doubtnut.com/l/_LUUQvWSGRl5K
https://dl.doubtnut.com/l/_JBW12CGvn3mk
https://dl.doubtnut.com/l/_qoR5Zbn7qWB0

Exercises True False

1. In some of the reactions thallium resembles
aluminium, whereas in others it resembles with
group | metals. Support this statement by giving

some evidences.

o Watch Video Solution

2. Alkaline earth metals have lower melting point

than correspondig alkali metals.

o Watch Video Solution



https://dl.doubtnut.com/l/_WqaFdLBxOkjj
https://dl.doubtnut.com/l/_DWV1C1cW2iLD
https://dl.doubtnut.com/l/_UvwWmFHdgCYq

3. The chemical formula of plaster of paris

CaS04.2H,0

o Watch Video Solution

4.Ca3(POy,), is presents in bones.

o Watch Video Solution

5. Which is important in blood clotting ?

° Watch Video Solution



https://dl.doubtnut.com/l/_UvwWmFHdgCYq
https://dl.doubtnut.com/l/_93iQwpJNcUeB
https://dl.doubtnut.com/l/_0jjzPBHkzNMK

6. Chlorophyll is a compound of calcium.

° Watch Video Solution

7. 3Ca3(POy),. CaF, is a part of enamel on teeth.

True or False

o Watch Video Solution

8. BeH, contains three centre two electron bond.

True or False

o Watch Video Solution



https://dl.doubtnut.com/l/_mjREUbScj9Mp
https://dl.doubtnut.com/l/_z1AtCRkT7MX3
https://dl.doubtnut.com/l/_FLhS0gao6BVH

9. CaH, and BaH, are covalent in nature.

° Watch Video Solution

10. Beryllium hydride and magnesium hydride are
covalent and

polymeric. True or False

° Watch Video Solution

11. The process of setting of cement under water is

essentially an oxidation process.

[ o Watch Video Solution


https://dl.doubtnut.com/l/_UgwRicS5x6vr
https://dl.doubtnut.com/l/_P9P7qboPgS3K
https://dl.doubtnut.com/l/_RxEyxAFyCtg3

Exercises Archives Multiple Correct

1. Sodium sulphate is soluble in water,whereas barium
sulphate is sparingly soluble because
A.The hydration energy of sodium sulphate is
more than its lattice energy.
B. The lattice energy of barium sulphate is more
than its hydration energy.
C.The lattice energy has no role to play in

solubility.


https://dl.doubtnut.com/l/_RxEyxAFyCtg3
https://dl.doubtnut.com/l/_SRLFIO9azfsy

D. The hydration energy of sodium sulphate is less

than its lattice energy.

Answer: A::B

o Watch Video Solution

Exercises Archives Single Correct

1. Calcium is obtained by the

A. Electrolysis of molten CaCl,

B. Electrolysis of a solution of C'aCl, in water


https://dl.doubtnut.com/l/_SRLFIO9azfsy
https://dl.doubtnut.com/l/_SQ8rO50EWcV1

C. Reduction of C'aC'l, with carbon

D. Roasting of limestone

Answer: A

o Watch Video Solution

2. The following compounds have been arranged in
order of their increasing stabilities. Identify the
correct order.

() KsCO;3 (1) MgCOs4

() CaCOs5 (IV) BeCOsq

Al <II<III <IV


https://dl.doubtnut.com/l/_SQ8rO50EWcV1
https://dl.doubtnut.com/l/_SAmTnBr91zBw

B.IV < II < III <1

CIV <II <I<III

D.IT < IV <III <1

Answer: B

o Watch Video Solution

3. One mole of calcium phosphide on reaction with

excess of water gives

A. Imol of phophine

B. 2mol of phosphoric acid


https://dl.doubtnut.com/l/_SAmTnBr91zBw
https://dl.doubtnut.com/l/_s6gC0gtG4z0p

C. 2mol of phosphoric acid

D. 1mol of phosphoric pentoxide

Answer: C

° Watch Video Solution

4. (i) A white solid mixture of two salts containing a
common cations in insoluble in water. It dissolves in
dilute HCl producing some gases (with effervescence)
that turn an acidified dichromate solution gren. After
the gases are passed through the acidified
dichromate solution, the emerging gas turns baryta

water milky.


https://dl.doubtnut.com/l/_s6gC0gtG4z0p
https://dl.doubtnut.com/l/_B7E5j5sGfYQ7

(ii) On treatment with dilute HNQO3, the white solid
gives a solution which does not directly give a
precipitate with a BaCl, solution but gives a white
precipitate when warmed with Hy0O, and then
treated with a BaCl, solution.

(iii) The solution of the mixture in dilute HCl, when
treated with NH,Cl, NH,OH and an Na,HPO,
solution, gives a white precipitate.

Q. The white precipitate obtained in (iii) consists of:

A. Mg(NH4)PO4

B. Mg3(PO4)2

C. MgClQ MgSO4

D. MgSO4


https://dl.doubtnut.com/l/_B7E5j5sGfYQ7

Answer: A

° Watch Video Solution

5. Which one of the following alkaline earth metal
sulphates has its hydration enthalpy greater than its
lattice enthalpy ?

A.CaSO,

B. BESO4

C. BCLSO4

D. SrSO4

Answer: B


https://dl.doubtnut.com/l/_B7E5j5sGfYQ7
https://dl.doubtnut.com/l/_C6pPCRC4DSgV

o Watch Video Solution

Exercises Archives Fill In The Balanks

1. Anhydrous MgCl, is obatined by heating hydrate

saIt, MgCl26H20

o Watch Video Solution

Exercises Archives True Flase

1. Anhydrous MgCl, is obatined by heating hydrate

saIt, MgCl26H20


https://dl.doubtnut.com/l/_C6pPCRC4DSgV
https://dl.doubtnut.com/l/_RHXrNZh5BsQX
https://dl.doubtnut.com/l/_SmPtACbmpW1e

o Watch Video Solution

Exercises Archives Subjective

1. Write down the balanced equations for the
reaction when calcium phosphate is heated with a

mixture of sand and carbon.

o Watch Video Solution

2. Magnesium oxide is used for the lining in steel

making furnace because

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_SmPtACbmpW1e
https://dl.doubtnut.com/l/_bvyLiBdXIdCJ
https://dl.doubtnut.com/l/_pbY5D8iwvalW

3. The increasing order of basic character of oxides

MgO, SrO, K50 and Csy0 is

o Watch Video Solution

4. Calcium burns in nitrogen to produce a white
powder which dissolves in sufficient water to produce
a gas (A) and alkaline solution. The solution on
exposure to air produce a thin solid layer of (B) on

the surface. Identity the compound (A) and (B)

o Watch Video Solution



https://dl.doubtnut.com/l/_pbY5D8iwvalW
https://dl.doubtnut.com/l/_IFFYp1lAJccW
https://dl.doubtnut.com/l/_wcP8quvz9owm

5.The crystaline salts of alkaline earth metals contain
more water of crystallisation than the corresponding

alkali metal salts. Why?

° Watch Video Solution

6. Arrange the following sulphates of alkaline earth

metals in order of decreasing thermal stability:

38504, MgSO4, CCLSO4, ST‘SO4.

° Watch Video Solution



https://dl.doubtnut.com/l/_fX6wQy73cbH5
https://dl.doubtnut.com/l/_BCWvZ2FKBBva

7.Work out the following using chemical equations:
‘Chlorination  of calcium hydroxide produces

bleaching powder"'.

° Watch Video Solution

8. Give reasons for the following in one or two
sentences only:

BeCl, can be easily hydrolysed'.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZcUtG9MgXDnK
https://dl.doubtnut.com/l/_4uhtr01BVVMu

9. Identify X in the following synthetic scheme and
write their structures.

BCLCO?, + HQSO4 — X(g)

° Watch Video Solution

Ex 5 1 Subjective

1. Name an element which is invariably bivalent and
whose oxide is soluble in excess of NaOH and its

dipositive ion has a noble gas core.

o Watch Video Solution



https://dl.doubtnut.com/l/_RzJ0dWxLKnPZ
https://dl.doubtnut.com/l/_PrLVcJtDsS5A

2. Differentiate between

a. quicklime b. limewater c. slaked lime

° Watch Video Solution

3. How is plaster of paris prepared? Describe its chief

property due to which it is widely used.

° Watch Video Solution

4. Give reason for, 'NaHCQOs is known in solid state

but Ca(HCOs), is not isolated in solid state.

[ o Watch Video Solution


https://dl.doubtnut.com/l/_nn2pPjyrg0pS
https://dl.doubtnut.com/l/_whYPTrBi0OIF
https://dl.doubtnut.com/l/_IGhvcJprsusJ

5. Contrast the action of heat on the following with

reason:

a. NayCO3 and CaCOs
b. MgCl26H2O and Ca0l26H20

c. Ca(NOs), and NaO;

o Watch Video Solution

6. Complete the following equations for the reaction

between

A. CCL —|— HQO


https://dl.doubtnut.com/l/_IGhvcJprsusJ
https://dl.doubtnut.com/l/_GRmMbi8jhUph
https://dl.doubtnut.com/l/_d50vmk15RIoH

B. C’a(OH)2 ‘|‘ CIz
C. BeO + NaOH

D. BCLOQ + HQSO4

Answer:

o Watch Video Solution

7. The enthlpy of formation of hypothetical CaCl )
theoretically found to be —188kJmol ! and the
AfH® for CaCly (4 is — 795kJmol ~ 1. Calculate the
AfH® for the disproportionation reaction.

2CaCl(s) — CaClg(s) —|—Ca(3)

.y l


https://dl.doubtnut.com/l/_d50vmk15RIoH
https://dl.doubtnut.com/l/_mTsxdEFpPykv

| ¥ vvatch video sSolution J

8. Compare and contrast the chemistry of alkali metal

with that of alkaline earth metal with respect to

polarising power of cations.

A. Nature of oxides

B. Solubility and thermal stability of carbonates

C. Polarising power of cations

D. Reactivity and reducting power

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_mTsxdEFpPykv
https://dl.doubtnut.com/l/_3nV7RrXIYalq

9. What happens when:

A. magnesium is burnt in air

B. Quicklime is heated with silica

C. Chlorine reacts with slaked lime

D. Calcium nitrate is heated

Answer:

o Watch Video Solution

10. Describe two important uses of each of the

following: (i) caustic soda (ii) sodium cabonate (iii)


https://dl.doubtnut.com/l/_sJ3DmqY1jLkm
https://dl.doubtnut.com/l/_gogxb31UCZ0c

quicklime

° Watch Video Solution

11. List the raw materials required in the manufacture

of portland cement. What is the role of gypsum in it?

o Watch Video Solution

12. Name the chief forms of occurrence of magnesium

in nature.

o Watch Video Solution



https://dl.doubtnut.com/l/_gogxb31UCZ0c
https://dl.doubtnut.com/l/_emf2yl3yB951
https://dl.doubtnut.com/l/_BZtjURsTeE8i
https://dl.doubtnut.com/l/_cIwEi9ixhm2d

13. Commerical aluminium always contains some
magnesium, name two such allous of aluminium.
What properties are imparted by the addition of

magnesium to these alloys?

° Watch Video Solution

14. Why is it that the s-block elements never occur
free in nature? What are their usual modes of

occurrence and how are they generally prepared?

° Watch Video Solution



https://dl.doubtnut.com/l/_cIwEi9ixhm2d
https://dl.doubtnut.com/l/_TP974rVKHv9W

15. How will you distinguish between:

a. Magnesium and strontium b. K50, and BaSO,

° Watch Video Solution

16. Give reasons for the following:

A. BeO is used as a refractory material.
B. Beryllium halides are polymeric.

C. Be(OH), dissolves in NaOH, but Ca(OH),

does not


https://dl.doubtnut.com/l/_VXnNpOpvDb6I
https://dl.doubtnut.com/l/_8j1QfZEHOgSZ

D.On hydrolysis at room temperature, MgsN,

gives ammonia, whereas M gCl, gives HCI.

Answer:

o Watch Video Solution

17. How is anhydrous magnesium chloride prepared

from magnesium chloride hexahydrate?

o Watch Video Solution

18. Give reasons for the following:


https://dl.doubtnut.com/l/_8j1QfZEHOgSZ
https://dl.doubtnut.com/l/_my6QD1HhqhJY
https://dl.doubtnut.com/l/_BlIvbaRuWWLW

A.Why is calcium preferred over sodium to

remove last traces of moisture from alcohol?

B.A piece of burning magnesium ribbon

continues to burn in SO,.

C.Halides of Be are soluble in organic solvents,

while those of Ba are insoluble

D. BeCl, fumes in moist air, but other alkline

earth metal chloride do not.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_BlIvbaRuWWLW
https://dl.doubtnut.com/l/_1EOCBlvOY4D5

19. Lattice enthalpies of
BeF,y, MgF,, CaFy; and BaFy are
—2906, — 2610, — 2459 and — 2367kJmol !
resoectively. Hydration enthalpies of
Be*t, Ca®*t, Ba?" and F°® are
—2194, — 1921, — 1577, — 130 and — 457kJmol *
respectively. Which of the fluorides has the highest

solublility in water?

o Watch Video Solution

20. On treatment with cold water, an element (A)
reacted quietly liberating a colourless, odourless gas

(B) and a basic solution (C). Lithium reacted with


https://dl.doubtnut.com/l/_1EOCBlvOY4D5
https://dl.doubtnut.com/l/_TWyLLYvBJDNw

(B) yielding a solid product (D) which effervesced
with water to give a stongly basic solution (E) and
gas (F). When CO, was bubbled through solution
(C), initially a white ppt. (G) was formed, but this
redissolved forming solution (H) when more CO,
was passed, precipitate (G) effervesced when
moistened with conc HCI and gave a brick red
colouration to the bunsen flame. When (G) was
heated with carbon at 1000°C, a caustic white
compound (I) was formed, which when heated with
Ny, at 1000° C gave a solid (J) of some commercial
importance. Identify (A) to (J) and explain the

reactions.

° Watch Video Solution



https://dl.doubtnut.com/l/_TWyLLYvBJDNw

21. Give reasons for the following:
a. Anhydrous calcium sulphate (anhydrite) cannot be

used as plaster of Paris.

o Watch Video Solution

22. What happens when:

SO, is passed through limewater.

° Watch Video Solution



https://dl.doubtnut.com/l/_TWyLLYvBJDNw
https://dl.doubtnut.com/l/_A0GK3jTgaAOQ
https://dl.doubtnut.com/l/_DW5ME7XYH0Cq

23. Give the chemical formula of the following:

a. Plaster of paris, b. Asbestos, c. Hydrolith

° Watch Video Solution

Concept Application Exercise

1. Which is not considered as a constituent of

portland cement?

° Watch Video Solution



https://dl.doubtnut.com/l/_yARq2nLGeVJm
https://dl.doubtnut.com/l/_tfNMcl8DcFOo

2. Like lithium in group 1, beryllium shows anomalous
behavior in group 2
Write three such properties of beryllium which make

it anomalous in the group.

o Watch Video Solution

3. Beryllium exhibits some similarities with

aluminium. Point out three such properties.

° Watch Video Solution

Ex 5 1 Objective



https://dl.doubtnut.com/l/_hW9ynioi5O9L
https://dl.doubtnut.com/l/_FtVgHvZHy90o

1. A metal M readily forms its sulphate M.SO,4 which
is water soluble. It forms its oxide MO which becomes
inert on heating. It forms its insoluble hydroxide
M(OH), which is soluble in NaOH solution. What
would be M?

A. Be

B. Mg

C.Ca

D. Sr

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Tn5zdqMBHfFX

2. A sodium salt of unknown anion when treated with
MgCl, gives a white ppt. On boiling. The anion is
A.CO:~
B.HCO?
c.50;"

D. NO?

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Tn5zdqMBHfFX
https://dl.doubtnut.com/l/_wIt14LcHHe9B

